3BC working points

proposed working point (June 2008)

without self effects!
the mcad summary

working points with reduced energy spread in BCO

fundamental relation spread <> r56 & compression
summary: 8 working points

8 x mcad summary in detail



http://www.desy.de/~dohlus/2008/2008.06.about_3BC/2008.06.about_3BC.pdf

bc — parameters
rf setting without self effects

RFO:V = 173.172 MV

¢ = 22.535deg

V@) = 30.203 MV

¢ =-172.576 deg ~28% /0o
chirp before B€0 = -3.574 MeV/ o
BCO: EO =(130 MeV -40 mm

RF1:V = 372.993 MV

0) 7.264 deg
chirp before BC1 =-5.241 MeV / ¢
BC1l: E1 =500 MeV, 56 =-110 mm
RF2:V = 1596 GV

¢ = 20.000 deg

chirp before BC2 =-7.341 MeV / ¢
BC2: E2 =2.0GeV, 156 =-31.272 mm

chirp after BC2=-7.341 MeV / o

lengths / m (projected to z —axis)

magnet 0.3
drift 1-2 1.0
drift 2-3 0.5
radius 2.352 I/I_I\I C0: 1.85
<
3.7m
magnet 0.5
drift 1-2 8.5

drift 2-3 1.0

20 m

magnet 0.5
drift 1-2 8.5
drift 2-3 1.0

20 m

™
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compression with BC1 ... BC3
r56 & C
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working points with reduced energy spread in BCO

4

compression in BCO: C = relative energy spread: o; =

o)

140
qs6

mm
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40

1.5 2.0 25 —>C 3

gaussian, 1nC, 50A - o=2.4 mm m



VO
Vi
V2
V3
V4
V5
V6
V7
V8

140
456

mm
120

T

100

80 -

60

40

1.5 2.0 25 —>C 3
qo6 C oE tol. V3.9 end-chirp noise
/mm *100 *1000 MV MV@1loc A
40 1.85 2.7 0.732 30.2 7.4 68
60 1.87 1.9 0.709 28.9 7.4 112
70 2.00 1.7 0.664 26.6 7.7 163
80 2.5 1.8 0.539 26.9 6.2 123
80 2.0 1.5 0.453 36.0 7.2 137
90 2.0 1.3 0.439 29.3 7.7 217 cto
90 1.8 1.2 0.302 50.6 8.6 276 cto
100 2.0 1.2 0.394 32.2 7.8 242 cto
100 1.8 1.1 0.273 50.6 8.6 307 cto
close to overcompression = cto
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compression with BC1 ... BC3
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compression with BC1 ... BC3
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compression with BC1 ... BC3
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compression with BC1 ... BC3
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compression with BC1 ... BC3
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compression with BC1 ...
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compression with BC1 ... BC3
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compression with BC1 ... BC3
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